GENERAL SCIENCE MOST IMP QUEST/SAMPLE PAPER 12

Q1. Mumps is a viral disease that causes inflammation of-
TG U fAuTueta I & St fvads o & faw omer €2

A. Parotid Gland / 3ueuf %fX

B. Sublingual Gland / wi¥et 3fX

C. Sub maxillary Gland / F4d g7 & I UfY

D. Infra-orbital Gland / &&itg T
Mumps is a viral disease also called epidemic parotitis. This is caused by the virus Rubulavirus and is
characterized by inflammation of parotid glands.
FHUBHTAT Ve fawro] Fant @ O vermn®t Rierefew off F&T ST §1 T8 aTRT FYAITIRY F HRUT garT § ik Wifes ufdar
& gorT H Rdwar g

Q2. Ventilators are provided at the top of room
TR & i W dfedier uem e oma &

A. to bring oxygen for breathing /& &= & faT sl &= & faw

B. so that sunlight may enter the room /dTfd FZot &Y AL HH F YA R AP

C. to maintain conventional currents to keep the air fresh in the room /&R H &dT & dTS1T W4 & faw

URURS YRS DT 1T /e & foiw

D. to provide an outlet for carbon dioxide /T STE3FTTES & fAT U 3M3eaie UeH avA & faw
Ventilators are meant to pass the hot air of inside a room to pass outwards. As hot air is lighter than cold
air relatively, it goes up near ceiling and pass through ventilators. As the hot air pass through ventilators,
relatively cold air finds its way from other paths to fill the room. Hence, this ensures a circulation of air
inside a room.
dfeier Ud FW & 3R 6 T gaT B TR 3R AW F fAv §1 T Hfe ™ gar 3L gar it go A godht €Y ?, safow
g B & U FW AT & 3R dfeaier T gra Tordr 81 R € 7 ga1 dfedier F [ord! 8, s0endd 381 §aT W & /R
& AT 3= Il F ST AT WS AT B | TAMAT, TE T FR F 3R gaT H IR AP awar 21

Q3. The sprinkling of water slightly reduces the temperature of a closed room because
uTl & fBgera A s HH BT ITIH AT HH &1 ST & i

A. temperature of water is less than that of the room /9Tt &T dTUH FW & dTIHH T FH & /

B. specific heat of water is high /gt & fafee FwT 7fds gt 8

C. water has large latent heat of vaporisation /ot # arefiaur &t 98t 1ed T et 8

D. water is a bad conductor of heat /aT} Tt &7 FaTers &
Water has a large latent heat of vaporisation. When it is sprinked over a large area, its evaporation occurs
which, in turn, causes cooling.
Tt & arsfiaRr 6 U 987 e THT it 81 ST 50 U 93 8 § RSt ST &, Y STt arsfiaRun giaT §, S sea #
AT BT HROT FT B

A. temperature /arqHT

B. velocity /am

C. pressure /819

D. density /g9@
Because of density, The density of the clouds is less than that of the air.
U9 & HRUT FEA] BT O a1 & Ocd J SH g1eT 2

Q5. An iron needle sinks in water whereas a ship made of iron floats on it because

e TGS U 7 39 ST 8 SSfd wA1g F AT T8I IH W Rl & FAND
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The edge of the needle is pointed /Tg T f&RT IHIAT &1 &

The ship is flat /ST&Ts TuTe &

The ship is driven by powerful engine /ST&TaT TfehRITelt S5 gRT HaTfed &

Specific gravity of the needle is greater than that of water displaced by it. /g &7 fafeie o 39S
R faeenfia Tt &t getar & 31fe g 21

Because the specific gravity of the needle is greater than that of water displaced by it.

FUIE g8 &7 fafdie o 3ud grT faramfaa o & a1fds glar 81

onw>

Qs. It is more comfortable to wear white cloths in summer because
T # Athe HUS UEHAT SUTET SRS BIdl & Fifch
A. they reflect heat falling on them. /& 39 W S aTcil FWAT HI Wrafdd a=d &l
B. they radiate heat transferred from the body. / & RR & fadhiof mff & wermfafa wwa &
C. they absorb perspiration. /3 GHN T 3@Mf¥d T &1
D. they are soothing to the eye. /3 3TR@ & fAT YaerTs ¢l
The white clothes reflect heat falling on them in summer and they absorb the least from the sun.

Fihe HUS AT # 37 W TS aTel THT &l gerid & 3tk 3 IS A o9 T 7 aiNd a2

Q7. An astronaut orbiting the earth in a circular orbit 1220KM above the surface of earth, gently drops a
spoon out of the space ship. The spoon will

T 3faRer ot gedt Y Tdg & 120 &5 FW va Marer werm § gedt & uftwar =ar 2, €k ¥ va g siake Serar
TR fIRTAT 21

Fall vertically down to the earth /92l W wigad i fiR

move towards the moon /=T & 3R ST &

will move along with the spaceship /3dfRe&r STETsl & TTT Tl

will move in an irregular way and then fall down to earth /31fRafiia a8E & 3T e 3R IR et W
R e

When spoon is dropped gently, its tangential speed is equal to the speed of spaceship, and so it revolves

oOnNn >

like a satellite.

SIS e Y Y A TR ST @, oY st wehar nfa sialer o i wfa & RieR gt ®, 3R safeiv a8 Suug Y RE
Ptnik

Q8. Domestic cooking gas consists of mostly

el WS N 7 fdeR e &

Methane and ethane /199 3R €39

Liquified butane and isobutane /aReligd sge 3R Mgaege
Ethylene and carbon monoxide /Tfaefia 3R T BIsaaTes
D. Hydrogen and acetylene /gTggIai 3R Tfafeaty

Domestic cooking gas is called liquefied petroleum gas (LPG). LPG is a mixture of hydrocarbons butane and

n w >

isobutane LPG is gas at atmospheric pressure and normal ambient temperatures level it is in the liquid form
under pressure in a steel container.

T TS TR &7 Rl Oy TR (TAdish) et SITar 8| Tedisht gregiaTa sy &t T & 3iR smedisges vadish
argHsATT g W 1 & 3R I uRaLT ATgH TR W I8 Wil HeR # ga1d 3§ &Red $9 T g1 81

Q9. What happened when a hard boiled egg after shelling is immersed in saturated brine?
T EIT & SId U POR It 373 BT WAad? Tl THSH Tt H ST ST 82

A. It shrinks /T R@ggar &

B. It grows in size /9% 3T&R H SgdT &

C. Its size remains unchanged /U@ 3THR srufafdd ear &
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D. itinitially grows and then shrinks. /5% & & 3R # SgdT ¢ 3R fiR s I1aT 21
When a hardboiled egg after shelling is immersed in saturated brine, its size remains same. Due to
coagulation of inner liquid there is no flow of solvent molecules across the membrane.
I US FOR 3T 372 B fOe & q1e Tged THS U # JaTaT SI7aT 8, A IUHT SATHR FHH 8T & SRS g@ & SrHa
& HRUT fEieei! & R-UR e & NU[3H &7 Uare &l e 2|

Q10. What does the airbag, used for safety of car driver, contain?
PR ATcTd Y GRET $ AT ITaNT fvT ST aTe waRaT & o7 €har 272
Sodium bicarbonate /H1f3aH STgHEHC

Sodium azide /af3uH TeITES

Sodium nitrite /TIf3TH AT8¢TEE

D. Sodium peroxide /Sf$uH ReTEsS

Sodium azide is used in airbag, used for safety of car driver. Under room temperature, sodium azide is a

n w >

stable compound. However when heated by an impulse it disintegrates to produce sodium and nitrogen. It
only takes about 50-100 grams sodium azide to produce enough nitrogen gas to fill a normal air bag for
driver.

Tfeod ToITes &1 ITTNT URAT § faar STt 8, FR AT S JRe & faw IugnT fvar St 81 FW & 91aET & dEd,
Tfeaw ToTTes Te &R 0 B gTetifes STe Tep S11aT gRT T bt STraT & ot Ig Sfeaw ok A18aio &7 3dTed & &
forw frufed 8 SIaT 81 Srea & 6T T ITHTg @R &1 &1 w1 & T v Aredie 119 &7 Sated o & fow $ael 50-
100 UTH Hf3TH TS AT &1

Qu1. If the doors of a refrigerator are left open for few hours, the room temperature

Tfe Xholier & A B Hel & v gat BIs faw o €, 37 F8R F7 arasw=

will decrease /e

will increase /gfg gft

will remain the same /3&f 38T

will decreases only in the area in the vicinity of the refrigerator AfIhoRe & ST & &5 H € °c
ST

If the door of a refrigerator are left open for some time the temperature of the room will increase.

T YThoiRer &7 RATST $& I9T & flw T BIS faar JU @ 8 ST 9199 ¢ S|

oOnw>

Q12. The normal temperature of human body on the Kelvin scale is

Ffegs du™ W T=a R ST ATATY G190 BT 2

A. 280K
B. 290K
C. 300K
D. 310K

The normal body temperature of a human being is 37°C, Thus, in kelvin it is 273+37=310 K.
TS & R HT AHTY A0 37°C €T 8, T UHR Sfead § Tg 273+37=310 K gaT 81

Q13. While lifting a bucket of water from a well, we feel that the bucket

P U FI g7t IoTd THT g8 T § b areet

becomes heavier above the surface of water. /UTt & Tdg ¥ 91 & ST &1
becomes lighter above the surface of water. /ITt &t T & FTR &I &1 ST &
looses stability on coming out of water. /Tt ¥ 9T&% 3T+ W AT |7 &7 &

has gained mass on coming out of water. /9T & ST& 3T W EIHM U 3% foaT 1

oNnw>

Q14. The cat can survive fall from a height much more than human or any other animal. It is because the cat
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et aa a7 Rl s IR &t g & 9gd 1 FarE A iR F 59 Tadt 81 U safav { wifs ot
A. can immediately adjust itself to land on all four paws and bend the legs to absorb the impact of
falling
B. has elastic bones

n

has thick and elastic skin
D. also gets injury equally with other animals, but has tremendous endurance, resistance, and speedy
recovery
Sol-
As the cat falls from a height, it bends the legs to absorb the impact of falling and immediately adjust itself.
T &) et Farg T IR 2, 98 IR & gua &1 sranfid = & faw R &1 Aed) § iR Ra e o JEmafad e adt
&l

Q15. In an earthen pitcher, the water remains cold due to the process of
gt & O3 & a5 ufehar & SRoT 337 3EaT 872

A. Condensation /&Fe

B. Evaporation /arsdiaur

C. Sublimation /afsaae=

D. None of the above/g8 J &1g off &l
Continuous evaporation through minute pores on the surface of earthen pitcher causes evaporation and
thus water inside it remains cool.
gt & U3 & e W &7 Bal & Aregd § TR arsdiaor § arefianor g1aT 8 3R 30 TR 38 3fa $T U 33T 8T
2l

Q16. Pendulum clock become slow in summer because
Wit # dicds uel it 8 St & Fifs
days in summer are large. /TTfial # fa7 93 814 €1
of the friction in the coil. /@ga § T & HRUT|
the length of the pendulum increases. /3gaH & @1 §¢ ST 21
D. the weight of the pendulum changes. /@d& $T YR F&d 1T &1
During summer season the pendulum which is generally made up of metal, expands due to the rise in

n w >

temperature. Increase in length causes increase in time period and pendulum takes more time to complete
one oscillation and hence the clock becomes slower.

ey g B Aot St ATHTA: €Tq &7 ST 81T 8, 190 7 3fe & HROT et SI1T 81 oaTe & gfe & g0y srafdy & afg gt
2 3R dIeie BT TP Qe [ A § US THT AT 8 3R gafeie ugh efieft g ot 21

Q17.A current of 1 A is drawn by a filament of an electric bulb. Number of electrons passing through a
cross-section of the filament in 16 seconds would be roughly

U fagd So9 & dq gRT 1 A &t a1 Wi STt 1 16 58 H fhariic & Hra-9av™ I oRA ITd Sadg! $f IRedm 7ie dR
R BN

(a) 10*

(b) 10"

(c) 10®

(d) 10%

Sol-
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Explanation:
I=Q/t

Q=1t

Q=1x16

Q=16q

Q=ne

n=Q/e
n=16/1.6x107°
n=10x10"

n = 10%° electrons

The number of electrons flowing is 102° electrons

The formulas of charge are given by,

Q=ne and Q=It

where Q n, e, I and t are the charge, number of electrons, charge of electron, current and time
respectively.

Therefore, from the formulas it can be said that

ne=It

On substituting the given values, we get

n=It/e

=1x16/1.6x107"

=>nNn=10"electrons

Q18. Which one of the following gases is used for the purification of drinking water?
fFofafea 3 3 g g &1 3w TR & = &) g T & faw g smar @2
A. Sulphur dioxide /He®R SRS
B. Chlorine /&I04
C. Fluorine /TdR=
D. Carbon dioxide /&Te STE3TaTSS
Chlorination is the process of using chlorine for treatment of water making it suitable for drinking
purposes. Amount of chlorine gas required for water treatment may vary depending upon water quality.

FAIHIRUT O & IUTR & AT I ST IUTNT ae bt ufesaT € S 38 TR & 32t & fw Iugeh §=17dT 81 STt IR
& AT smasgs @RI TR 6 AT Ut B quiaEr & STYR W A & gadt 2l

Q19. Some marine animals and insects emit light from their body in darkness. This phenomenon is known as
PO T SR 3R HIY 3R T 3197 ¥R A U1 IATAT IR &1 $H TeAT B & T & SIHT ST &

A. Phosphorescence /®iapRad

B. Bioluminescence /eI fadT

C. Both Aand B /A 3R B 3T

D. None of these /g980 & &I T8I

Q20. In scuba-diving, while ascending towards the water surface, there is a danger of bursting the lungs. It
is because of
a1 e & ot Bt T W Ted THT BHE Hea BT [WeRT EdT &1 g & HRUT

A. Archimedes' principle /3Tf&RE &1 fagia

B. Boyle's law /aTze &1 Agw

C. Gay-Lussac's law /-cqaTe &1 faq
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D. Graham's law of diffusion /uTe# &7 fawrur &1 fAgw
As scuba diver ascends towards the water surface, water pressure decreases, so according to Boyle's law
air in his lungs expands to occupy a greater volume. Which increase the chances of bursting the lungs.
SR €Y T SR U & Tddg Y 3R TgaT {, UM BT a1 B & ST 8, STV §Tae & Ry & rgar 3ud st #
&1 ATUS 7T # et STl 81 FSRE Bwhs e Y HHTSHAT 9 ST 8



